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The umber of ot mesages sent by s st cne o 3= el 5
Reprosent the et o ot pot)
w om0 s
5o on o n 4
The number of text messages spans from 10 to 15 messages. =
(D) o construct a dot plt ofthess umbers,craw 3 orzontl number ine 4
s et rom 101 15 o
o e * A oal =

RS o Kot

Normbor of Txt Messages Sent o

The data 10 appears once, 50 piace one dot sbove the number 10 on the [

umber fine. The data 11 appaars hree times, o place tros dots above
the rumber 1.
The dota 14 is absent, 50 there is no dot sbove the number 14.

Tugeria tomsed s rumber cube, rumbered 110 6, 20 Umes. She recorded the.
umber in the tabie below. Represent the dta on a dot pot

T con oreake o dot plot and descrbe A setof daka
104 Its Sread 4, ooerall shope ( Symmemial or skeurd)





